= O
N = O & 3 Al
20118 =& 3 3 eME-dIl= &A
DA PN = FSI
M ussXES
D MELIIZ 2E(UMSLEIB) (et =3
SN B SRA(SIH) - MBAY - BAS Abod p[E-Ll HlnE2
ot 6,688,983 6,728,956 239,973
A&Es 970,564 1,196,000 A225,436
SHII= 22 (AMELHII3) 970,564 1,196,000 A225,436
MEdII=aX3 970,564 1,196,000 A225,436
201 ZEt2FH| 266,068 356,000 A 89,932
01 AtR2tel 266,068 356,000 289,932
Olget=gHl] 265,298 353,000 A87,702
O M=dlIa2eRAS e SHIESR 35
Z& 66,0008 * 14 66 2,500 N2,434
OMsdlis2el?da 2 AIRES
- 2 & 50,0003 * 14 50 1,500 A 1,450
OxZdst= SAHL 9BMH
23 1,042,000 = 14 1,042 3,000 21,958
ogelotstaol st s X
2 264,140,000& * 14 264,140 346,000 A81,860
Oolegx¢4] 770 3,000 22,230
OM=E4IIa 2elRArEHH
Z2& 770,000& * 14l 770 3,000 A2,230
301 et el = 194,496 320,000 A 125,504
02 ¥st=dsti= 194,496 320,000 A 125,504
OFstz L stAZY|
Z2 & 80,088,000& * 14 80,088 80,000 88
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2 & 12,408,000& » 14 12,408 60,000 ANAT 592
Osdata A &Itdl 28 0& 0 20,000 A 20,000
O%= gy Zstz 102,000 160,000 258,000
O&r?l 5% Z 3 60,000,000 14l 60,000 96,000 236,000
o&at?l 10% Z 3 42,000,000 * 14l 42,000 64,000 222,000
308 XXM SOIA 510,000 520,000 210,000
06 WsI|I20tHetEL=S 510,000 520,000 A 10,000
O WALKNIAS Z&E 225,000,000& = 14l 225,000 235,000 A 10,000
S(RXIZAD) 5,718,419 5,532,956 185,463
XNE(IMEHIIZ) 5,718,419 5,532,956 185,463
sd&eldl= 5,718,419 5,532,956 185,463
602 Ol Xl = 5,718,419 5,532,956 185,463
01 tIXI= 5,718,419 5,532,956 185,463
O&JINE Hxl=
Z& 5,718,419,000& = 14 5,718,419 5,532,956 185,463




